

INTER CLUB COUNCIL AT UNIVERSITY OF CALIFORNIA, MERCED ALLOCATION OF FUNDS PROPOSAL FINAL APPROVAL DOCUMENT



ICC MEETING DATE: 2/28/17 Meeting Notes EVENT DATE: 3/22/17 ٠ Moved event to March 22, getting two speakers EVENT NAME: End Human Trafficking Want to host it by the beginnings sculpture, CA **CLUB: UNICEF Campus Initiative** room or amphitheater Will be two to three ٠ hours TOTAL AMOUNT REQUESTED: \$782.50 Speakers will be from • the care office, the crisis center, and planning on TOTAL AMOUNT APPROVED: \$782.50 getting 3 survivors VOTE YES: 6 NO: 1

Katelyn Filzgened ASUCM PRESIDENT SIGNATURE: DATE:

APPROVED: 03/07/17 Automaticaly Approved

NOT APPROVED:



INTER-CLUB COUNCIL AT UNIVERSITY OF CALIFORNIA, MERCED - RCO EVENT FUNDING PROPOSAL -



RCO Name: UNICEF Campus Initiative

Event Title: End Human Trafficking Speaker Event

Total Amount Requested: \$782.50

FACILITIES – [insert requested amount here]

FACILITY	VENDOR	RENTAL RATE	HOURS O/USE	TOTAL PRICE
N/A				
				\$0

HONORARIUM/SPEAKER - \$500.00

Name(s) of Honorarium/Speaker(s): *We are still looking for specific speakers, but we are hoping to have at least five speakers present.

Description of Services/Cost: The purpose of the event would be to inform the campus of Human Trafficking and for students to hear stories of past survivors. The funding would go to the honorarium for the speakers and for decorations.

<u>PERFORMER</u> – [insert requested amount here]

Name(s) of Performer(s):

Description of Services/Cost:

<u>ADVERTISING</u> – [insert requested amount here]

	TOTAL	# O/ UNITS	UNIT PRICE (\$x.xx)	VENDOR	ITEM
					N/A
SUBTOTAL					
ТАХ					
GRAND TOTAL	\$0				

<u>FOOD/DRINKS</u> – [insert requested amount here]

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL	
Frito Lay Variety 32 pack	Walmart	\$9.98	1	\$9.98	
Lay's Variety 20 pack	Walmart	\$6.48	1	\$6.48	
Sun Chips Variety 30 pack	Walmart	\$13.12	1	\$13.12	
Mott's Fruit Snack 24 pack	Walmart	\$3.94	1	\$3.94	
Welch's Fruit Snack 80 pack-	Walmart	\$15.70	1	\$15.70	
Arrow Head Case of Water 12 pack	Walmart	\$2.16	3	\$6.48	
Gatorade Variety 18 pack	Walmart	\$8.68	2	\$17.36	
				89.52	SUBTOTA
				7.16	TAX (if applic

<u>ADDITIONAL SUPPLIES</u> – [insert requested amount here]

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL	
4 Table Cloths	Dollar Tree	\$1.00	4	\$4.00	
5 Flower Bouquets	Walmart	\$25.00	5	\$125.00	
Balloons (packs)	Walmart	\$7.98	4 (packs)	\$31.92	
Balloon Weights	Walmart	\$1.38	4	\$5.52	
Tri-Fold Poster Board	Walmart	\$2.77	1	\$2.77	
White Poster Board	Dollar Tree	\$0.95	3	\$2.85	
				\$172.06	SUBTOTAL
				\$13.76	ТАХ

GRAND TOTAL

\$96.68

\$	\$185.82	GRAND TOTAL	
----	----------	-------------	--

<u>OTHER</u> – [insert requested amount here]

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL	
					SUBTOTAL
					SUBIUTAL
					TAX
					GRAND TOTAL